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I) Choose the correct answer (write it in the table above): [L N —\ _
1) (=00,3)N[-1,7)= [ - 1 ,’3) — o 3 L
(a) (—00.7) @H;D ©cL3 || @@
-3
_ I
2 . =
EON L’
(a) 2% (b) =5y~ @) = Ay
3) The domain of ! — is D = XER] 6 '—21703
A D) :%xé\?, é??_xg -:(—-00,3)
(a) (—00,3) (b) (—o0,3] () (3,00) (d) [3,00)
\\_/,
¢
14+ ( ! = [ n- 7—)*—1] (’V‘{) oxd @Y L X
4) ———— equah "’—'g) (%= 1) - w (V) x (x-1) X
% (c) 1 (d) =
@) 77
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5) The equation of the I; '
e line sing o -
linez —y—1=0is passing through the origin 0(0,0) and parallel to the

b{:5:1—1 ;M,:i

So D4 =X b‘ //DZ.
L (a) y =2z (b) y = -2z l (c)y=—=x (d)y=z ) anb 4 paiics
'fe\wouéx\ %‘

6) ;l;hel-equaiéion of the line passing through the point A(1,2) and perpendicular to
e line ol equati —x=0i ‘
quation y —z =0 is b‘ tYy=xX W, =1

i Y = -x +b . As A€ DNy Keu

(a)y=z+1 b)y=—-x+1 (c)x+@ d)z+y=-1 b=3
bl:ﬂ:'-)(-i-’.%

7) The center of the circle with equation (z + 2)? + (y + 5)% = 16 is the point

(a) C(_57 _2) (b) 0(27 5) (C) C(_2= _5) (d> 0(57 2)

8) If z; = —2+ 2i and 2, = 1 + 4, then Z equals

(a) —2i (b) 1—1i (c) i (d) 2i

9) The solution of equation 8 — 22 = —5(z — 1) is 5p-1x = 5-%

TN
@)x———j (b)yz=1 (e) z=2 (d) z =4

(5-221<3 3 .5-2x <3
10) The solution of |5 — 2z| < 3 is —R < 2% L —
e, DR 2R
(a) z € (—8,-2)|| (b) z € (-3,3) ||(c) z € (—4,-1) ‘@ l ALK <4
So X€(\W4)
Please go on (o the next page.
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) A) Find all the solutions (real or complex) of the equation 22 — 4z + 13 = .
a=4 ) b= -4 ; c© =43
The Aiscimmant D = bi-dac = 46 —403 =16-5% 5
=36 = @l)
S = -b-Vd _ 4-6¢ _3-3¢
2a B 2
_ =b + VD -
XL = N —_ 9.-1‘3(.
) Solve e inequality =3 > 0. _’DIM‘\ \% j
X\ -4 2 3 tp

| — &= | - |

C) Find the coordinates of the center and the radius of the circle with equation
2 4+y?+4z —6y+9=0.

xt w4 —63+9 =0

(Frkn) v (g58) +9 =0
® (x+2f=4 + Y= 9 =7

e 9 y
Se @+2)2+®—3)L:4 =4 Gyopac
The canfer & = (213) amd Cadis R=L.

End of quiz
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